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Q. P. Code: 36601
(3 howrs} { Marks:#)
M. H, (1) Question 1 iz compulaory. i

{2) Solve any thres from remaining five.
{3} Diraw neat sketches wherever require.
(4] Assume suitable data if required.

1. sobve any four
(41 Explain E-UITRAN with suirable diaprami ! e
{b)  What are the three phases of wireless Jm[ﬂ.'n.:nrk desipn? ]:}'.ph'un 5
(¢} What is ‘hidden node’ and ‘cxposedneds” problem in WLAN? 5
{dy  Whal are the busie nviddleware tunetions for WENT f:r;p_jp{p, 5
(g With a suitable example cxplain category 1 and category 2 of senser 5

nelwork
2. {a)  Explain middicwarc architecture of WEN 11

{b)  Explain HSDPA emphasizing it primary :J[".Ijl:LlncH und: o it ar_'hm'l.r-::s 1]
performance improw ement?
{ay  Givethe detailed radio atcess network overview, Explain in detail 11
functions nf Node B ?LI]-:I_F‘."‘»'L ﬁ:l::-l} drw UTRAN lingricul archiectre -
(b1 List out the factors affecting size 0f the vellular network-and the frequendy 10
planning. Discuss these: tacmrs in detiil. i
4. (a)  Why TCP and [112P pmmmlsare unsuitable or lITlFI-|t:1TItﬂ'I|.H.I:1I:'II'I in WSH, 10
ib)  Tlsing the Fﬂ-llnumg data fora GSM network, eslimale the voice and data 14
traffic per subscriber. If there are 40 DTS sites, caloulste voice and data ™~
fraffic per cell.
v Subsoriber usage per month: 130 minutes
*  Days per month; 24
o Busy hours per duy: 6
o Allesated speclrum: $.5MHz?
Frequency reuse plan: 4712
RF channal width: 200 kHeull rate}
Prescat fo, ef subsceiber in the wone; S0, 000
Subscriber growth per vear: 5%
Netwark roll out peried: 4 vears
»  DNumber ol packet calls por session (NPCS): 5
mumber of packets within a packet call (NPP); 25
Reading time between packet calls (T 1204
Packet size (NBP): 480 hytes
Time interval berween two packets inside @ pachet call [Ty} 1015
lotal packel seryice holding time during ene fuwr (1) 1000s
Busy hour packet sessicns per subscriber: 0,15
Penetration of data suhserilers: 23%
e Dara rate ot each subseriber: 48 kbps
*  Packet tranzniission lime: 10 s
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0. P. Code: 36601 |

f. (@} Why notwork management desipgn s criticel jgsue in WENT E:f.p[am 10

(k1 What i3 localization of W5N nodes?: Eu*.pium Pr!ﬂ‘f é“'-:i‘.!mp]_-;s n:mtrailizccl and I
distributed schemes i locelizativn.

6. (a} Explain Bluetnath security ﬁ:&lur-;u aml b.-r:u.l..r;iy !evel,g swith proper. dmg_rﬁm 'IL_LJ

rhl Wriee short note on {any ‘twn:_l 10
(1) WIMAX o i -
12 RFELY . A T !
{3}.2.[&'5&? ! I : --. . i b

{4) LTE i 1)
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Q.P. Code : 17003
e e o o

[Time: Three Hours) L 3 - [l':ﬂ;larl'-::.:ﬂﬂ_]__

Please check whether you have got the right q ue};t?a_:ﬁ::p‘aﬁér.
N.B: 1 Q.1ls compulsary RO

I. Solve any three guestions out of tetralnipg. ; >

3. Assume suitable data if negessany s'ga_fiﬁg"i::' cf&a_r‘l‘r
What Is OMAP in netwaork management?
What is remote monitoring?
Compare between SNMEY] and SNPy37
Describe Code Book Reasoning based event cofrelztion technlgued

You are administering the 24000 wari-:gtatiaﬁs in ﬂnqr,ganiihti'qn;"!qu are p'in'g-iﬁaeath slatian

periodically. The message size in both directions is liﬁ'yytesﬁlnhg._Thé NS youare using is
on a 10-Mbps LAN, which functions with 30% efficiency. What would be the freq uency of your

ping if you were not to exceed 5% averhead?
List and describe SNMP vanious commands:with command syntax.

With respect to 1S0/0S1 network fanagemant: Deserlbe following tefmms:
i] Scoping and Filtering iy =

i) Linked Replles

i) GOm0

Iv] ACSE and ROSE

Draw a neat diagram of TMK funclional architecture with interfaces.
List and describe RMONZ MIE groups wilh their functlons.

What is SNMP proxy server?

Explain user security model (USK) of SNMPyS?

Draw and describe SNMP w1 message and SKMP vIPOU formats,

Explain the significance of Trap. Describe the differant types of traps,

Whatis ATM MNetwork managemenl?
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O.P.Code:13984

Max Marks: 80
Duration: 03 Hrs.

L. CQuestion No. 1 is 1.um.[':|E|Im|."|.I
2. Ot of remaining questions, attempt any three guestions,
3. Assume suituble additional data if réguired.
4. Figures in brackets on the right hand side indicate full marks.
1. {A} Explain Stability circles and ils importance in amplifier desigu. (05}
(B} Compare HMICs with MMICs, 3,
(C)  Discuss microwave amplifier versus micrawave nsclilntnrs (3
(D) List and explain varions performance parameters of miver. {158
2. (A} Derive the dispersion relation fr e microstrip Tins, (10
{B) Give limitations and crileria for the choice of substiate material in (11
IMICS and MMICS,
A (A} Derive the transducer power gain as: {10}
o L. |_5;|':fl |15 — [4LF)
N P L e
(B) Explain Green's Function mud discuss its application. (1)
4. Design an amplifier to bave gain of 10 dB at & GHz using a traosistor (20
with the Tollowing s-parameters (Zn = 50 0) 81 =061 & -170°, Si2 = 0,
Ne =224 £ 31°, 8 = L72 ~ -83° Plot constant gain circles for Gs = |
dB and G =2 dB. Use matching sectivns with open cirenited shuut
stnbs.
3. {A)  For two port oscillator at steady state oscillation, prove that if: {10y
[iTis=1 Ii'lLﬁ.Trf aue =1,
{B) Design a lange coupler with a center frequency of 4 GHz and with W = {110y
4, C=0.5and Zun = 30 £2, Determine the line width and spicing required
if an alumina substrate with A = (L6335 mm and ¢ = 9.8 is o be used.
6. (A) Give briels of Balanced FET Mizers, (1)
(B} Discuss amplifier Lncarization methods. (10
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Time: 3 hory b : “Marl‘a. ‘Hll

KB, 1) Question nomber 113 compulsory, e
2} Answer any three questions out of remaming que-umns
31 Answer the questions with suttable diagrams.

1. Anewer the following el N : . 2 11l
{a} Discuss 1) GPS and VIAT ; 83 > i P
: 17 -' g = ) ...: - - ‘ = -
{B) Compare (i) F1l- COMA and DS- Luﬁm ol Rl 2o 1)

(11} Explain Launt.:hmg af E1¢l.: H'EHJ-J'i‘r'I'Id-l'_'r hil't-:lahtﬂs :

_\.-

2. (a) Explain block diagram ol Transmil urul rEL.;kn-E-utj.’pE ::lf E:a.lﬂl 'Et‘ﬂflnn. = 10
Explain each block in detwil, ) ) :
{e] Which types of anlennus ure used in '-B.EIT.ELHTE E,{Fjluumul:"mﬂll & : 10
Explain one antenna in deti:ul PR & Frae A i -
3, (a) What iz Earth celipse uf"‘iaufﬂﬂ-: P Tt R Iy
Are Lhere any ways ol u-.-mdmg u-::hpm dl:lrjrgg lifesttne of E.atE;ﬂt’[l:
{h1 Taplain the ollofding: .~ : : : 1

=

(i} 1 db Compression polok
(i) Al to PR conversion

{a) Desenbe dilferent stabilization Techmigues© 10
(b} Tiplam TT & € systern with the belp of block diagram. [y

5 [uﬁ Whaat is EIRP Miscuss the inportance of] 30| racio
Calculate -:mfm'all_lL'.“I‘-:l'l for a satcllite link if
[C] uplink=25dh, [CAN] dovendink=20db and [Tnlermodetation| =1 2db
by Explam SPARE svstem and SCPC of TDMA 1

G Wnle shiorl rades on aer twn 2
() Odptical link satelfite ransmiilier and receiver

(b Cmboard commectivity wath transparent processing

() Prame organigation aod window organication
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Duration: 3 hours

Q.P. Code: 40105

Max marks: 80

Note the Tullowing instruetions.

() Question No.J is compulsary

{ke} Tkl 4 questions need to be solved

(e} Attempt any three questions from remaining five questions.
(d) Assume suitable daty wherever necessary, jirstify the saine

1.

i Explain Control bits (flagshin-FET header: |5x4]

b, Drww the OS] Mudel and list two functions of each layer,

¢ An 1P datagram has arrived with the fallowing s formation in the healer
23 00 00 54 00 03 0000 20006 00 10 7C 4E 0302 B4 0E OF 02
iy Whal is the version of 11" i} Are there aiy-ophens? i) ls the packet
fragmented? jvi What is the header lengih? ) What s the size of the data”
vil I3 a checksum used? i) How msany routers can (he packet tiavel o7
vitl) What is the identification nnmber of the packet? ix) What is the type of
service?  x) The data belony to what upper fayer. protocal %

d Fxplain the standard designed by 1TU to albow telephones on public telephone
netwark 1o talk to computers conngcted to the intemel.,

2 o R [10x2|

a. Paplain in belef one messape transter sgent and ane message access agen|,

b, Discuss DHCP uperation when the client and server.are on the same network
aron dilferent network, o

L . [10x2]

d, List and explain parpiose of csch timer in TCP,

b Discuss how TCF implements flew: eonilmol in which the Teccive window
contrals the sizc of the send window.

4, : [Tx2]

a, Dxplain the digitization and compression o Audio and Videao,

b An ISP i pranted 3 block of addresses starling with 120.60.4.0/20, The (5
wanls to distribule this block w100 orpanisations with each orgmization
receiving & addresses only. Desien the subblocks snd oive the slash notation
for each subblock. Find out how many addresses sre still available afier these
allocalimis,

i | 1x2]

4, EBxplain the protecel detigmed to handle real-time trallic on the internel,

b, Explain-an application Javer protoco! that establishes, manages and lerminates
A multimedia seszion{call),

. Write a short note an ; |5x4]

n. - Privare 1P adidress,

b, Dhomiain game systen,

48

Caonneetion esiahlishment in TCP usin 2 Three-way Hamdshaking,
Technigques o nprove Qualily of Service (oS,
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